Last Plotted: 2023-11-02
Filename: \NA.AECOMNET.COM\LFS\EMEA\DUBLIN-IEDBL2\LEGACY\IEDBL2FPO01\DATA\DCS\PROJECTS\BP\60657534_SUMMERHILLFIELDSTOWNSID\900_CAD_GIS\910_CAD\FIELDSTOWN\PLANNING FOLDER\60657534-ACM-DWG-612.DWG  PM Initials :

Last saved by: OISIN.BURKE(2022-09-28)

BW

MB Checked KMCD Approved:

Designer :

HORIZONTAL RAILS

50 x 50 x 6 ANGLE AN

BOLTED TO 50 X

50 X 6mm ANGLE
BRACKET BOLTED

TO POST

100

N— BOLTS M12
WITH PERMACONE
SHEAR NUTS

100x55x8.1 kg/m
RSJ POSTS

50 x 50 x 8 ANGLE
BOLTED TO 50 X 50 X
6mm ANGLE BRACKET
BOLTED TO POST

150mm X 250 mm
CONCRETE PLINTH ON
150mm  HARDCORE UNDER

PALES &

2600

10mm FALL
50mm - MINIMUM
CONCRETE
COVER TO PALES

PLINTH 140mm
MINIMUM DEPTH

160mm COMPACTED
CL 804

PLINTH

DETAIL OF STRUTS

1 TO FENCING

NOTES

1.

THIS DRAWING TO BE READ IN
CONJUNCTION WITH ALL RELEVENT ESBI
DRAWINGS, BILLS OF QUANTITIES AND
SPECIFICATION CS 17-S01-5

FENCE HEIGHT TO BE ADJUSTED

AT GATE TO ACHIEVE MIN
2600mm FROM ROOAD LEVEL

M12 FIXING BOLTS &
PERMACONE SHEAR NUTS /I

50mm SPACING
BETWEEN 3.5mm PALES
(23no. PER PANEL)

27350 POST CENTRES

PALES TO BE CORRUGATED WITH
TRIAD HEADS & WELDED TO
——50x50x8 STEEL ANGLE

MWW W

(ONLY WHEN REQUIRED)

/—CONC. PLINTH

1100

1100 x 800 x 800
CONCRETE
FOUNDATIONS
DIMENSIONS TO
OUTSIDE

GROUND LEVEL

FIX 48.3 CHS 3.45kg/m. 5.
TO EVERY 4th. POST.
WITH 2 NO. M10 BOLTS

FINISHED COMPOUND

STONE LEVEL

IS EN ISO 1461.

WITH IS EN 13438.

2600

THAT 50MM.

150

ESBI IN ADVANCE.

=

BASES, C30/37

600 X 600 X 600 DEEP
CONCRETE FOUNDATION

DETAILS OF FOUNDATION

DETAILS

TO CORNER POST

SCALE 1:50

SCALE 1:50

THIS SECTION OF FENCING TO BE WELDED CONSTRUCTION,
FABRICATED AS PER MAIN PANELS AS NOTED v

*

ANGLE TO BE
DETERMINED
ON SITE.

Xk

ELEVATION TO TYPICAL SLOPED DETAILS OF

AAA-AAAAMM
A

MINIMUM HEIGHT
OF FENCE ON
EITHER SIDE OF
COMPOUND IS TO
2650mm

SECTION OF FENCING

50x50 MIN SECTION OF POST AT
ANGLE SUPPORT BRACKET
TO BE LEFT NON POWDERCOATED.

ANGLE SUPPORT BRACKET
TO BE LEFT NON POWDERCOQATED.

NON POWDERCOATED
TOP & BOTTOM

5

DETAIL OF COATING

AT FIXING POINTS

SCALE 1:50

900

3.5mm PALE BLADES TO BE
CORRUGATED WITH TRIAD
HEADS & WELDED TO
60x40mm RHS & 50mm
SPACING BETWEEN PANELS

—

TO COR
POST.

900

R

—
ANTI CLIMBING DEVICE FIXED Y
TO SUPPORT BRACKET FIXED 8
TO 50X50X6 HORIZONTAL (]
RAIL. N

POST

v

ANTI-CLIMBING AID

ANTI CLIMBING
DEVICE FIXED

NER

2. THIS DRAWING IS NOT TO BE SCALED.

3. THE FENCE IS TO BE CONSTRUCTED IN
ACCORDANCE WITH B.S. 1722 PART 12

6. PALES TO BE TRIPLE PQINTED &
SPLAYED, AND WELDED TO RAILS IN
ACCORDANCE WITH CL. 5.1 OF BS 1722

7. GAP BETWEEN PALES AND BETWEEN
PALES AND RSJ TO BE NOT GREATER
8. MINIMUM HEIGHT OF FENCE ON EITHER
SIDE OF COMPOUND IS TO BE 2600MM
9. IN AREAS OF MADE—UP GROUND

ADDITIONAL CONCRETE TO BE USED IN
BASE. QUANTITY TO BE APPROVED BY

Al

i
Vol 10. CONCRETE TO BE GRADE C20/25 TO

|

|

PLAN 1:20

ANTI CLIMBING DEVICE
(F\XED TO SUPPORT
BRACKET FIXED TO
100X55 X B.1KG/M RSJ

4. GALVANISING TO BE IN ACCORDANCE WITH

POWDER COATING TO BE IN ACCORDANCE

ANGLE BRACKET FIXED INTO WEB | TF"WM MW\

(angle fixings only)

50 x 50 x 6 ANGLE =

BOLTED TO 50 X

50 X 6Bmm ANGLE
BRACKET BOLTED

TO POST

FIXING AREA TO POST
100x75mm, ENSURING METAL TO
METAL FIXINGS

PALES TO BE 70 x 20 x 3.5mm
CORRUGATED WITH TRIPLE
POINTED AND SPLAYED HEADS
WELDED TO 50 x 50 x 6 STEEL
ANGLE WITH 23 No. PALES PER
PANEL

50 x 50 x 6 ANGLE
HORIZONTAL RAILS

ALL POSTS PREDRILLED WITH 15mm
dia. FIXING HOLES INTERNAL FLANGE
FACE PROVIDE A 1m LENGTH OF
50mm PVC PIPE DUCT FROM RSJ
EARTH LUG THROUGH PLINTH INTO =
COMPOUND AT EACH CORNER AND
MIDDLE OF FENCE LENGTH OR AS
DIRECTED BY THE ENGINEER

PANELS EMBEDDED 50mm IN
CONCRETE PLINTH & 100mm
MINIMUM CONCRETE COVER TO
FRONT OF PALES

POST EMBEDDED LENGTH
850mm MIN.

" 3
1100 x 600 x 600 CONCRETE E _|
FOUNDATIONS DIMENSIONS P ot L

7

[=]
n
™

lete SS
Jf€e—————————— 100x55x8.1 kg/m

v
/l TOP OF FENCE

50x50x8 HORIZONTAL RAIL
v

100

RSJ POSTS

POWDER COATED GALVANISED FENCE:
NO POWDER COATING TO:

ANGLE FIXING BRACKET,

FIXING AREA TO POST 100x75mm,
100mm LENGTH OF ANGLE TO PANELS
50x50mm AREA AT PREDRILLED HOLES
ENSURING METAL TO METAL FIXINGS

ALL POSTS PREDRILLED

TO OUTSIDE GROUND LEVEL 600
GRADE €20,/25 CONCRETE

100 x 55 x 8.1 kg/m
RSJ POSTS

GRADE C20/25
MASS CONCRETE
SURROUND TO ACHIEVE %
600mmXB800mm FOUNDATION

ELEVATION OF FENCE

& HARDCORE UNDER

CONCRETE PLINTH 50mm MIN.
ABOVE & BELOW GROUND LEVEL

X 0.6 X 0.6
RETE FOUNDATIONS

A
ONCI

SCALE 1:50

———GROUND LEVEL

600x600mm

R
IIIOIDIION

DETAIL WHERE THERE

POST CAST INTO
450 DIA. CONC. PIPE

450MM DIA.CONCRETE PIPE
TO SUPPORT CONCRETE POST
MADE UP GROUND

PRECAST CONCRETE SLAB

S50MM SAND BLINDING

IS MADE-UP GROUND

WITH 15mm Dia. FIXING HOLES
FLANGE OF INTERNAL FACE

CONC. PUNTH
(SHOWN DOTTED) i

e

s T— T

1100

By -

~

E

[l

SIDE ELEVAT

ON

OF POST

SCALE 1:50

BLACK POWDER COATED PALISADE

ON LOWER FENCE

FENCE POST.

MINIMUM OF 4 No. ADDITIONAL HIGH PALES

NOT GREATER THAN 50MM

NON POWDERGCOATED SECTION
OF POST AT BRACKET
POSITION.

T

NON PDWDEkCQ#TTED
SECTION OF| POST.

S

PERMACONE SHEAR NUTS

STEP(S) IN PALISADE FENCE

(WHERE APPLICABLE)

M12 BOL

I |

AN -+

AN

PERMACONE SHEAR NUTS

SCALE 1:50 .
CALE 1:50 ( ) SCALE 1:50
S WHERE APPLICABLE DEPTH OF STEP TO BE AGREED ON SITE, BUT NOT GREATER THAN 200mm
NOTE: — ADDITIONAL HIGH PALES ON LOWER FENCE.
50 X 3 X 2150mm LONG 76 X 3 X 2225mm LONG
SLAPPING PLATE SLAPPING PLATE
WELDED TO PEDESTRIAN GATE~_ WELDED TO SHS TO LEAF 'B’ %bf’TA’Z\‘TCPﬁL,:EESNgEACED
200 WITH 6mm FILLET WELD ITH 6mm FILLET WELD 4900 L A N NG 200 ;(EPLEVFELP%I%_E '_FF%PG%TFES TO
A\ .
n 2445) N 2445 PALES TO FENGE
-
A (w1 7m0 o 1 e o Q m (0 {00 £ S0 00 600 400 60 0 0 00 e (0 0 0 (0 o Y ol
o o
N N |0
( ‘ 80 x 80 x 36 SHSL NI 80 x 80 x 3.6 S.H. — []
\ | \I : 3.5mm PALES SPACED
%b— | i —pefr TO MATCH FENCE —
AN ;’ £|| % Il ﬁ gﬁ TN WELDED TO GATE FRAME
] < ﬁ': : < : : N w \ ENDS OF ALL HINGE
n B iy | . [92] BOLTS ON EACH
5 il LDl * N 9! I LEAF TO BE BURRED 0
@ 9 Al | | 2 e || © TO PREVENT N
= Ll 3_13 ) ) S REMOVAL OF NUTS =
. — | x o I
200 x 200 x X [ N :{ : © o o
6.3mm S | 5/ Shfits VR 3 | L9 S 3 x 100mm SLAPPER S
SHS BOX SN ro—.ﬂ: | ij A, 9 PIECE SITE FIXED TO o Q
SECTION %‘ﬁ' -~ C_ | = BOTTOM OF GATE TO 3
GATE PIER i | UL PP ﬁ PRESERVE 75mm
TR v B0 CLEARANCE TO BOTTOM -
|| Bopds (e ||| @0kagx | RHS H GO AHS %% B Ox x| A goxdoxd RHS (||| BPOfA Rie [ I OF GATES AND camBer I =F
HOLE TAPPED °° | LI Il TO ROAD.
TO TAKE 60 Tl 1K y
M12 BOLT a Il 1K Cl— o
FOR EARTH — 1 il I // + | > HoLgs TaPPED TO %
o \%‘E" Ifl N Ul 4 = T TAKH M12 BOLT FOR
If! A N = ARTH STRAP o
= i Il I N [ g © TOP OF FENCE
N J, 1l \ -1 PLINTH INTERNALLY
80 x 80 x 3.6 S.H.S. | 1 80 x 80 x 3.6 S.H.S \ / 1 .
71 2N
¢ N VNV L : °
= M~
| /[ | 003-003 | ~ — /|T 003-003 | /L [ \03-003
1000 x 1000 x 1000 DEEP
L FOUNDATION IN GRADE C30/37 |~ | PaD IN GRADE 030/57 B ] SECTION A-A
CONCRETE. _— CONCRETE. SCALE 1:25
| s00 | s00 | ELEVATION TO INSIDE OF GATES
7 7 . SCALE 1:25 LOCKING ARRANGMENT OMITTED FOR CLARITY, SEE DETAIL 3
| ¥ | : : 4900 _ | K 3.5mm| PALES SPACED
| | 850 Dimension to be confirmed on site | TO MAFCH FENCE.
f 1 —
4 J I a CLEAR OPE u - ; /{/ L |
50 Dia. GALVANISED STEEL == TP
TUBE (FLUSH WITH | 76|IX 3 X 2225mm LONG - |
COMPOUND SURFACE) PING PLATE im x 1m x1m DEEP
STOP IN 300mm DEEP — WELPED TO SHS OF LEAF 'B’ — RETE FOUNDATIONS
CONCRETE SURROUND a S :H |GATES TO HPEN INWARDS | WIfH 6mm FILLET WELD Eﬁim— —
(2No. THUS) POSITION OF ~
GATE STOPS TO MATCH

LOCATION OF DROP BOLTS

LEAF
THIS LEAF TO OPEN FIRST

PLAN ON GATES

SCALE 1:25

Printed on ___ % Post-Consumer
Recycled Content Paper

72}
c
o
w
c
[}
£
=)
=)
[}
-
©
-
[72)
(]
=
=
£
o
=
=)
[}
=
©
-
o
[}
[
o)
-
w
>
IS
wn
-
c
[}
£
D
=
>
[72]
©
[}
1S3
<
-
c
[}
£
>
o
o
©
L
=
=
<o
[
(&)
w
—
o
e
o
[m)]
-
c
[
(2]
c
Q
(&)
c
[}
b=
=
=
[72]
[72]
D
=
o
x
[}
w
=
o
O
L
<<
-
>
o
=
=
=
(=)
£
=
[
=
o
2
=
=
c
o
[72]
Q
©
=
—
o
[72]
Q
(2]
=)
-
©
=
=
=
=
©
o
>
c
©
[}
-
S
[}
>
[}
o
(2]
-
©
=
=
=
=
a
e
>
c
©
[72]
Q0
[
[}
=)
=)
c
©
>
=
8
w
c
o
o
(7]
a
-
o
<
n
-
o
[0)
Q
[5}
©
=
o
O
Ll
<
=
£
>
o)
°
D
=
>
o
D
st
[72]
©
—
o
=
o
O
L
<
>
o)
o
[
D
—
(=]
©
w
©
-
o
[0
[&)
x
[}
73
Q
=
©
o
o
=
=
=
>
o)
c
o
o
=)
°
Q2
©
=
—
o
B
[}
(&)
>
o
o
=
o
D
=
=]
2
=
o
[}
IS
=
[}
w
=)
[
o)
-
o
j
>
®©
1S
=
-
c
2
©
w
=
o
O
L
<<
—
o
[}
w
=)
[
=
=
—
L
B
D
—
®©
o
D
=
o
c
[}
[}
o)
w
©
=
(=)
=
=
©
=
o
L
=
—

=COM

PROJECT

FIELDSTOWN 110 kV
SUBSTATION & GRID
CONNECTION

CLIENT

ENERIA SOLAR
HOLDINGS LTD.

enérgia

CONSULTANT

AECOM

Adelphi Plaza
Georges Street Upper
Dun Laoghaire
County Dublin

Ireland

T +353 (0)1 2383100
www.aecom.com

LEGEND

NOTES

1. DRAWINGS ARE INDICATIVE ONLY AND SHOULD
NOT BE USED AS DETAILED FOR DESIGN.

2. ANGLE BRACKETS AND STRUTS TO BE
POSITIONED WITHIN SUBSTATION COMPOUND.

ISSUE/REVISION

PO| 30/09/2022 | FIRST ISSUE FOR PLANNING

IIR DATE DESCRIPTION

STATUS

FOR PLANNING

PROJECT NUMBER SCALE

60657534 NTS

SHEET TITLE

FIELDSTOWN 110 kV SUBSTATION
TYPICAL SUBSTATION
FENCE DETAILS

SHEET NUMBER REV

60657534-ACM-DWG-FT-612 PO



	Sheets and Views
	712


